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N & 0l & At

A

o
20198 = =0l &b 2B M
A= gl 2M 0lHEE
Ha: NAESLASY
Sl XAl RS (B9 ®R)
- _ — d =
224 B BN NRAY - BES 0] &k o4 e HlDE2
[Ega et 46,462,316 50,785,240 A4,322,924
= 2,299,000
s 5,650,000
< 38,513,316
P P gea s 45,722,300 50,247,000 A 4,524,700
= 2,299,000
s 5,650,000
< 37,773,300
LA DB RF 20,834,500 22,200,100 A 1,365,600
s 5,350,000
< 15,484,500
THUHALEIHEESS DR T LA (SIEEXHA) 1,180,000 226,000 954,000
403 XIS E X201 H 1,180,000 0 1,180,000
01 X SHHAN2E= 1,180,000 0 1,180,000
OAEIHESESHN L2 XI0H LY 1,180,000
HHUHALIHES SIS ZE ALY 100,000 100,000 0
308 MtXIEHMSOIH 100,000 100,000 0
01 HXNHHBHEES 100,000 100,000 0
OALIASRSESFHAMMEMS S A 100,000
ZAEJIHE S S L= 6,000 6,000 0
202 Odl 6,000 6,000 0
01 = LH 4 bl 6,000 6,000 0
OAd&lAesEsE=A 6,000
HHUALEIHSEESETLEAHANALNH 2 SAL (S0t 57,000 0 57,000
HNEX )
403 HXISHHSA=0l& 57,000 0 57,000
01 X ESHHMA=E L 57,000 0 57,000
OAEIANEESESSEAHANILNE R0 57,000
NEEstAESHAL (I NAEXA) 9,220,000 10,780,000 A 1,560,000
308 XAXIEHHSOIA 9,220,000 10,780,000 A 1,560,000
10 S22 S0 3&XEAE A 9,220,000 10,780,000 A 1,560,000
OXG=sM4AEAY 4,795,000
D3N MASHAS 2,629,000
OSMNEHAH KR ALY 1,549,000
OSMEAIZSSIN2AHSEAY 247,000
ES XA AHHE2HE 5,300,000 3,700,000 1,600,000
s 4,600,000
< 700,000
403 MHXISHHSA=0l& 5,300,000 3,700,000 1,600,000
s 4,600,000
< 700,000
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A= gl PN OlcHSeS A
Ha: NAHANASY
Sl XAl RS (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 100,000 100,000 0
01 HIXNHHBHNEELES 100,000 100,000 0
OctolE I &S 2=2I X 100,000
DEZLAUISLSSENIAANAHI2F (S NAZ N 300,000 1,602,000 A 1,302,000
)
403 A X EHHSH=0IA 300,000 1,602,000 A 1,302,000
01 X HHMA=LE L 300,000 1,602,000 A 1,302,000
ONSEYAMLSESSRNIANLE RS 300,000
N ELdsmdsy (BNt HAY) 975,000 585,000 390,000
s 750,000
< 225,000
308 XX EHSOIA 975,000 585,000 390,000
s 750,000
< 225,000
01 HIXNHHNBMNEES 975,000 585,000 390,000
O AAEEINYSHAL (I EZHI) 975,000
s 750,000
< 225,000
SFELAHAMSIEX R 80,000 80,000 0
307 21201 A 80,000 80,000 0
04 QIZFHALAIH B = 80,000 0 80,000
O=NESATHASMINZE XA 80,000
N HAHI B2 F ALY =8 67,900 822,500 A 754,600
201 Let24d] 12,800 237,000 A 224,200
01 At 22/l 12,800 237,000 A 224,200
Ogst=2tl 12,800
OiREASAs 4o 1,800
OXNGMIUENE MR 5,000
OXA SIS AL 2E =St 6,000
202 044l 6,000 6,000 0
01 = LH o4 1l 6,000 6,000 0
OXS AT BRAS A=A 6,000
203 YR =&l 9,100 9,500 A 400
03 AIMF=XH 2 =AH| 9,100 9,500 A 400
OXAMSINERSAMHBLRFT 4,300
ELEPNEEET- RS 4,800
207 A RO 40,000 570,000 A 530,000
01 A3l 40,000 570,000 530,000
ODCEEMSH NS ELYLEA A 2ELEEIS Y
H1EY 40,000




M ox
40 5 4

BTGB PNI-PN SN olds
INE=F ST ERE
SR =BIETEE

U=

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
HEOXSHMEEANSEASIBRAF (I AT RH) 1,000,000 2,500,000 A 1,500,000
403 UHXISHHSA=0l& 1,000,000 2,500,000 A 1,500,000
01 XM= E L 1,000,000 2,500,000 A 1,500,000
OECXNHHNRIAIE NSRS 1,000,000
EEMYSY 830,000 300,000 530,000
307 glz2tol & 30,000 120,000 A 90,000
02 LIt HAMHEE 30,000 120,000 A 90,000
(2019 BASEEB2IA4S2AH(FUENA) 30,000
308 XtXIEHHSOIA 800,000 0 800,000
01 X HHILEES 300,000 0 300,000
OCSE2MEAMME(FUEA) 300,000
10 B3I/ 2S0HUHeB&EEALS I 500,000 0 500,000
OJc2agdadsl|giaAmg(=e&aA) 200,000
OCSe88d 2L (F2UEA) 300,000
NAMAHESH 1,502,000 3,603,000 22,101,000
ZEHIA-MIA2G X 494,000 519,000 A 25,000
306 43 494,000 519,000 A 25,000
01 &3 494,000 519,000 225,000
OJZ=HaA-I22Z XA 494,000
Z=20l0IECERSHAI2E N 287,000 293,000 A 6,000
306 ¢ 2 287,000 293,000 A 6,000
01 &3 287,000 293,000 A 6,000
[JZ=20I0IECIERZARAR2EAXA 287,000
ZEUNHELHCOEI =AM XA 150,000 160,000 A 10,000
308 XXM SO0l A 150,000 160,000 A 10,000
01 HIXNHHNBNEES 150,000 160,000 A 10,000
OZSXNSEELHCLEI =AM XA 150,000
ZEITS I =JRAAS XA 150,000 200,000 A 50,000
308 XXM SOIA 150,000 200,000 A 50,000
01 X HHBIYEES 150,000 200,000 250,000
OZ=ITSESM4SI=MS X 150,000
SHUETRAMNL A LA R ZAS (FNHEEXRE) 100,000 150,000 250,000
308 XX EHH SOl A 100,000 150,000 A50,000
01 AXHHIBLEXS 100,000 150,000 250,000
O3 AT 2N ALAIS X R A 100,000
AsHESINLSAS LSRN ALY 200,000 160,000 40,000
308 AHAIEHSOIA 200,000 160,000 40,000




M ox
40 5 4

ST =IE=DPE-EN
ISNE=F VSR

SR

D KA HESA

L= oTo

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
10 3J/2S0HUHeB&EEALS I 200,000 160,000 40,000
ONSAESIN LA Lo N3 AY 200,000
ANAMAANE S LA =T 2| 121,000 121,000 0
201 Let24E] 112,000 112,000 0
01 At 22l 112,000 112,000 0
Opt=2l 112,000
OXAMIHEREAMTER 112,000
202 o4dl 9,000 9,000 0
01 = LH o4 1l 9,000 9,000 0
OXNGMAHESLMAFA 9,000
SESHEsH 2,455,000 3,298,800 A 843,800
2 1,000,000
= 1,455,000
S2EIAHNE 2L ALY 585,000 428,800 156,200
201 Let2d] 2,000 800 1,200
01 At 22l 2,000 800 1,200
pt=2Hl 2,000
OZHAZ SN Y 1,200
OEBUIISEAMNE2E =S 800
202 4 Hl 3,000 3,000 0
01 = LH 4 Hi 3,000 3,000 0
OstEdsdg=sdF=2 3,000
308 XX EHHSOIA 580,000 425,000 155,000
01 HIXNHHNBHNEES 580,000 425,000 155,000
OstESM4 T HA LAY 300,000
OFZEHA0HE 2 A 30,000
OZ=sEBod=sdU3 1= 100,000
KK EIH2A0HAHE XTI & 150,000
S2ZEIAHEHELAEHPASALS 1,870,000 2,870,000 A 1,000,000
= 1,000,000
< 870,000
403 A X EHHS =0l A 1,870,000 2,870,000 A 1,000,000
= 1,000,000
< 870,000
01 X EHHMA=LE L 1,870,000 2,870,000 A 1,000,000
22 IAHEHEUAMEHZEAMY 1,870,000
= 1,000,000
< 870,000
EBANHESHIE 6,798,600 1,660,600 5,138,000
SEAT g 720,600 160,600 560,000




A= gl 2AM :OlisSEaY
M X ANAMARY
el BAMSANE CER-ED
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
201 ¢er24| 1,600 1,600 0
01 At 22l 1,600 1,600 0
Oget=2tl 1,600
OB AMARHETS A+ 2Y| 1,600
202 Odl 9,000 9,000 0
01 = LH 4 Hi 9,000 9,000 0
OSAMYRHEX 9,000
308 XXM SO0l A 710,000 150,000 560,000
01 IXNHHBENEES 110,000 150,000 A 40,000
OstAMdSEZHIN 60,000
OBA=S8MMMNSSSA0XA 50,000
10 B3I/ 2SOHUHSZAEEALS I 600,000 0 600,000
OSAHMS=2ME A SO 100,000
OSA=SSHSHAI = NS A 500,000
?i’é@—?—%’éﬁléwﬁ.E—Jé*%ik)lt‘\_*?é(aﬂﬂﬁll% 6,058,000 1,500,000 4,558,000
403 XIS E X201 H 6,058,000 1,500,000 4,558,000
01 AXSHMA=2EE 6,058,000 1,500,000 4,558,000
OBAHERELANEAL LSS 6,058,000
Ol B20HEESHARLAXNAANG (2T X)) 20,000 0 20,000
308 XtXIEHH SOl A 20,000 0 20,000
01 HXNHHBHEELS 20,000 0 20,000
OO0IE20tHESEARAXRAAEY 20,000
FHIIE=s4 1,628,700 1,755,500 A 126,800
I=HAHBSIUHEAIMNS (2HEEXA) 200,000 300,000 100,000
308 A EHHSOIA 200,000 300,000 100,000
10 3J12S0HUHeSEHEAEALS I 200,000 300,000 100,000
OJIsHAESIUHERAIAEY 200,000
KNAXNAMTHAZHES XA (2HEEXH) 1,388,000 1,407,000 A 19,000
307 glz2tol & 1,388,000 1,407,000 A 19,000
02 It M AMHEE 1,388,000 1,407,000 A 19,000
OXAHMa4FEEX 1,388,000
NRUHIA 30,000 30,000 0
301 et a = 5,000 5,000 0
12 JIE 243 5,000 5,000 0
DAeuye A3 5,000
303 Z& =2 25,000 25,000 0
01 Z&= 25,000 25,000 0




A2 AT el B M AS A 2K : DlcHsEAS D
Ha: NAHANASY
S E-1=SI-EE CERED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ol At o %Ei HR=2
OxaetymAZ 25,000
HAJ|Eg=E =8 A 10,700 18,500 AT7,800
201 LBt Y| 4,700 12,500 A7,800
01 AP 22| d| 4,700 12,500 AT7,800
Ogs=2H| 4,700
OXATHAMHEZUCIH(ETSES) 4,700
202 04| 6,000 6,000 0
01 2L Hl 6,000 6,000 0
OISy 6.000
SAIGEHILYISXRA 500,000 70,000 430,000
=S H 9K ALY 500,000 70,000 430,000
308 XAXIGHH SO0l & 500,000 70,000 430,000
10 2| 2SHUSHEAXERAEASH] 500,000 70,000 430,000
OJI=SH 119X AL 500,000
StetAtd = o 2,677,500 2,695,500 A 18,000
= 1,299,000
o= 1,378,500
StATNSEXRAIE A 639,000 639,000 0
= 426,000
& 213,000
403 XX S M S X201 & 639,000 639,000 0
= 426,000
& 213,000
01 AXESHHI2E X 639,000 639, 000 0
Ot SN AEEX 639,000
= 426,000
= 213,000
StO|tATH2 M A 900,000 900,000 0
= 450,000
= 450,000
308 AXIEHSOIA 900,000 900,000 0
= 450,000
= 450,000
10 B2 SUHUSHEAEAE A Y| 900,000 900,000 0
[I8to At A TS AL 900,000
= 450,000
& 450,000
SRS CHSAIS 546,000 546,000 0
= 273,000
= 273,000
308 XAHXIEH SO0l & 546,000 546,000 0
= 273,000
= 273,000
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B DN XSl Y RS

M ox
40 5 4

A

[e2]

= =)
HEDNJSRSEE Faigeals gy

A

D HOIME RS

% - 4 14
22N ZH-B(EH) - MEAY e bl D=2t
WAMASLIR 100,000 100,000 0
308 AHAIEHHSOIA 100,000 100,000 0
01 HXNHHBHELS 100,000 100,000 0
O2Mea A=A 100,000
HHOIQUCIZEE =X 150,000 200,000 250,000
403 XSS A=0l& 150,000 200,000 A 50,000
01 XM A2E X 150,000 200,000 A 50,000
OdtoI20CIZ2 & & 150,000
A YA IS AL (2 EE X&) 4,495,500 4,490,500 5,000
403 MtXISHHE X201 & 4,495,500 4,490,500 5,000
01 XM A=2EE 4,495,500 4,490,500 5,000
[JESAZS 2 HAA S| 4,495,500
HHOl 24 | & =& A H| 6,000 6,000 0
201 Let24d] 1,500 1,500 0
01 At 2teltl 1,500 1,500 0
Ogpt=2tl 1,500
OstettolIl=29 =8| 1,500
202 oddl 4,500 4,500 0
01 = LH 4 bl 4,500 4,500 0
OHolaasdF 4,500
BHAAZES = KIAI|BHA A (IR E X2 983,500 0 983,500
)
403 MtXISHHE X201 & 983,500 0 983,500
01 XS M A=2EE 983,500 0 983,500
OWAAMZII=XRIIETAI AR TS ALY 983,500
UAZANZSSSHIEHOILQUCZEEI IS HL A 200,000 0 200,000
308 XtXIEHH SOl A 200,000 0 200,000
01 AXNHHBANEES 200,000 0 200,000
O4SHSSEESEUO0IQUCESI =AY 200,000
WAMASHMEZOIAAS 75,000 0 75,000
308 A EHHSOIA 75,000 0 75,000
01 HXNHHNBHEES 75,000 0 75,000
OBAMASHENZ 75,000
FoEEH ,953,000 6,619,000 A 4,666,000
s 300,000
< ,653,000
HRHLARAL IR 180,000 180,000 0
307 glz2tol & 180,000 180,000 0
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AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
02 It M AHE L 180,000 180,000 0
O8KRHLHATASE X 180,000
M) =AML XA 150,000 90,000 60,000
307 glz2+0l & 150,000 90,000 60,000
02 HAHFHAANGFEX 150,000 90,000 60,000
OGS sH2HE X 150,000
IH & A 4 O 2 XI 90,000 90,000 0
307 21201 A 90,000 90,000 0
02 LAFLAFEX 90,000 90,000 0
OIH&E A AT LRI 90,000
HRIIAHS AL S 330,000 330,000 0
307 gl2tol & 330,000 330,000 0
02 IZtA M AHE X 330,000 330,000 0
OEFIAARNE XA 330,000
HOZESRSELTHALELSIAML (SHAEXA) 300,000 4,750,000 A 4,450,000
403 MtXSHHSA=0l& 300,000 4,750,000 A 4,450,000
02 S 2SO HEAE R E AL H 300,000 4,750,000 A 4,450,000
ONCZdRSEL2MMSE LAY 300,000
HRSENTASFML (FNEEHRA) 200,000 200,000 0
307 21201 A 200,000 200,000 0
02 HAFAAHEX 200,000 200,000 0
Ods+=s HE LA 200,000
HRZEIHNERLHIIMNEX 2 100,000 100,000 0
307 21201 A 100,000 100,000 0
04 DIZHHALALSE E X 100,000 0 100,000
ORZ=22Md LS H2 XA 100,000
HdRFS4E3MHEX 2 90,000 90,000 0
307 glz2tol & 90,000 90,000 0
04 DI2HHALALSE E X 90,000 0 90,000
O8df=s483MzX& 90,000
NAEHFMASH(BSEIZI MG I AL AIY) 420,000 450,000 A 30,000
as 300,000
< 120,000
308 XXM SO0l A 420,000 450,000 A 30,000
as 300,000
< 120,000
01 AXHHBILEES 420,000 450,000 230,000
OZSEZ M4 HMAASAIL (2 EEHI) 420,000
s 300,000
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SA - BB S(3H) - MEAY Ol &t o San HmEET
== 120,000
o2z &AIS EILAA 90,000 90,000 0
307 gl2tol & 90,000 90,000 0
04 BI2HeH At 90,000 0 90,000
oield 90,000
RAMYELF 3,000 9,000 26,000
202 O4dl 3,000 9,000 A 6,000
01 = LH o4 4l 3,000 9,000 26,000
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OMBISIHAAEN S X &AL 4,677,591
= 4,351,272
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= 1,502,798
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403 XM SA=0l& 1,953,638 1,953,638 0
= 1,502,798
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01 HIXSHMA=2E X 1,953,638 1,953,638 0
OnsSANEASHAHATL XA 1,953,638
= 1,502,798
= 450,840
EgussH72N 130,000 130,000 0
= 100,000
< 30,000
403 XSS X201 & 130,000 130,000 0
= 100,000
< 30,000
01 XXM 22 = 130,000 130,000 0
OSgus+=¢I2edX& 130,000
= 100,000
< 30,000
Z2A0IsSAEUHEX 2Y 770,000 350,000 420,000
307 glz2tol & 770,000 350,000 420,000
05 BIZERI & 3 770,000 350,000 420,000
OZ90lsX2MMEH2E 770,000
sEguszd 4,480,000 650,000 3,830,000
s 4,480,000
308 XX EHHSOIA 4,480,000 650,000 3,830,000
s 4,480,000
01 HXNHHBNEES 4,480,000 650,000 3,830,000
O=sEss8Y9AMXNE (ST H|) 580,000
s 580,000
OsE338HAXNE (FSZHI) 3,900,000
s 3,900,000
= SHEANSHAMS X 200,000 212,000 A 12,000
308 MHXIEHSOIH 200,000 212,000 A 12,000
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OSAZNELXA 101,400
= 101,400

BAI2E X 79,600 111,044 A 31,444

308 MtXIEHSOIH 66,000 66,000 0

01 X HHILEXS 66,000 66,000 0
O2EZYANSFU R 66,000

403 X SHHS =0l & 13,600 45,044 A 31,444

01 HIXSHMA=2E X 13,600 45,044 A 31,444
OEHESHAAS X 13,600

SgHAZEXE 70,000 60,000 10,000

308 XXM SOl A 70,000 60,000 10,000

01 AXHHILEES 70,000 60,000 10,000
OD3gHAZEXE 70,000

NAHASSAIS KA 17,550,000 16,598,000 952,000

307 21201 A 17,250,000 15,500,000 1,750,000

09 2+FAHEXS 17,250,000 15,500,000 1,750,000
OANHAZSALSHEXA 16,750,000
OZHEAUZAI2HEAIAHAZEXRA 500,000

402 212t X201 & 300,000 1,098,000 A798,000

01 RIZt Xt 2 AL E = (REA &) 300,000 1,098,000 A798,000
OMAHASH A S XA S HI WA X 300,000

NHELSHEHASSAIS XA 8,765,000 8,581,000 184,000

308 MXIEHSOIH 8,018,000 7,826,000 192,000

01 HXNHHBHELS 8,018,000 7,826,000 192,000
OgElcdELdBAZ 2,000,000
OANUHEsSHEHA2SMETHEXR 5,526,000
SHAMZA2HANUHAZEX A 492,000

403 X SHHSA=0l& 747,000 755,000 A 8,000

01 X SHMA=E X 747,000 755,000 A 8,000
OsoHE3gdH A28 270,000
OAUWSHEHAWH XX A 477,000

NEANOSEHASUAA 261,000 247,500 13,500
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308 AXISHXMSO0IH 261,000 247,500 13,500

01 HXHNBMNEXTZ 261,000 247,500 13,500
OMABHAR2AIA 261,000

CANEgEDNsEY 3,450,000 500,000 2,950,000
rag 3,450,000

308 XX SIS 0| & 3,450,000 500,000 2,950,000
2 3,450,000

01 AXHHNIMNEXTS 3,450,000 500, 000 2,950,000
[(OSANZ2Z2SEHA XN (RETH|) 450,000
rag 450,000
OZAZ2EHAXNI (ZEZH]) 3,000,000
fag 3,000,000

EH Al S S A EH = AF bl Xl & 216,320 0 216,320
= 216,320

308 AXISHXMSOIH 216,320 0 216,320
= 216,320

01 HXHHNBIMNEXTZ 216,320 0 216,320
OH4AXEHAIS S HEA 216,320
= 216,320

SYHEIIIHAE X EH X 24,492 0 24,492
= 18,840
& 5,652

403 XX S M S X201 A 24,492 0 24,492
= 18,840
& 5,652

01 MXHHE2E = 24,492 0 24,492
OS=SYHEAIIHAEXNEH 2L XA 24,492
= 18,840
= 5,652

WECHMEAHINA 3,271,550 2,653,980 617,570
= 1,248,750
& 2,022,800

IME==NelPSPSPLE=PN| 350,050 310,000 40,050

201 Bt A H| 145,000 145,000 0

01 AtSR 22l bl 95,000 115,000 A 20,000
Oet=sH| 95,000
OnsSotdMAHoYLEE 60,000
OuNEHHM=EESSHE 15,000
Ol nNEANDNHLSASEEZ M 20,000

03 A2 H H| 50,000 30,000 20,000
OF0HFHE WSt 2HH & IH 10,000
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308 XXM SO0l & 195,000 165,000 30,000
10371 2S0 UL H?AE AL 195,000 165,000 30,000
OO0 0lusSHEATS =23 50,000
OnSAsMuNsStdls 70,000
Ood2dNENE=Y 50,000
OusStdl=nSddun= 25,000
NEEHAA2E A 1,092,000 1,103,000 A 11,000
307 glztol & 1,092,000 1,103,000 211,000
03 eAHNEE2SHIES 1,092,000 1,103,000 211,000
OusS=sds-d23HX 1,092,000
SHTANEES AL 154,500 0 154,500
403 TtXI M SA=01A 154,500 0 154,500
01 HXSHH =L xE 154,500 0 154,500
RN HAS A ( 103,500
OACELXZ el 0IAIAEA 51,000
N20IEZDEXNFEHEX(AZ) 1,527,500 1,240,980 286,520
= 1,175,000
= 352,500
403 TR SHHSA=01A 1,527,500 1,240,980 286,520
= 1,175,000
< 352,500
01 MM =R E 1,527,500 1,240,980 286,520
ORI (H202H 2 2 1,527,500
= 1,175,000
£ 352,500
BaANSHSEXNEHEX 147,500 0 147,500
= 73,750
= 73,750
402 QIR0 A 147,500 0 147,500
= 73,750
= 73,750
01 Yt EMEEE (KA ) 147,500 0 147,500
OFdHAEX(HAXSHS 147,500
= 73,750
S 73,750
nsBHA 7,137,900 14,383,200 AT,245,300
= 2,845,000
= 2,735,000
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01 At 22l 13,000 10,000 3,000
Ogpt=2tl 13,000
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202 04l 13,400 12,000 1,400
01 = LH o4 1l 13,400 12,000 1,400
OsxHsFHRFAA 13,400
307 glz2tol & 10,500 3,000 7,500
02 It HAMHEE 10,500 3,000 7,500
OnsSatdsSstisiHRasEd 10,500
DH2HSAMAAS 21,000 21,000 0
308 XXM SOl A 21,000 21,000 0
01 IXNHHBENEES 21,000 21,000 0
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AXHMEGZZDEMAH(ITS) AL 4,125,000 0 4,125,000
= 2,845,000
= 1,280,000
403 A X EHHS =0l A 4,125,000 0 4,125,000
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01 X SHHA2E= 4,125,000 0 4,125,000
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OB NSIEHIIEEZENA 100,000
OHAHDEEsS2A=H(FUEN) 120,000
HHSAAH (MEZNDED) 78,130 0 78,130
=3l 78,130 0 78,130
Jl23Hl 78,130 0 78,130
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Oos=(63) 15,6479 A« 1903 » 1H « 122 35,676
Onl=(52) 2,7022 21%1,200& x2H 12 77,818
O EUlAlIOH5S)

2,4842 21%1,200& 18«12 35,770
OHIEY (52) 2,420€24*1,200& »2H » 128 69,696
O=x8=g 393,714
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Oll=(=%) 4,250 241,200 x 18 122 61,200
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O et=ZH| 48,650
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